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71-1 9w wemAs mEzx wess  (BLLhERR ) B2 2:02.18 3 1:50. 71
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72 A K FF 4x500 el
K

Aa#> L—v % i B X5 EIE BFE B BE  KREEH
712-1 3 BEEK EINE ket #AZ (GEFS ) B ® 2:01. 11 5 1:42.56
72-1 4  mmm Ekmk sk oasEss (MRS EK ) B B, 2:06.57 6 1:42.56
721 5 mism wEv=— BRSH Haen (BEIFEERER ) 8 ® 1:51.66 1 1:42. 56
72-1 6 xmem siex —aie memax (BEBEEESR ) B O 1:54. 71 2 1:42. 56
721 T wsxsx smusr weiks stax (BEBERKEER ) B & 1:56.22 3 1:42.56
72-1 8  shERE M. BEE £5Ex (BESKR ) B B, 1:59. 81 4 1:42.56
72-1 0 wmEx wArn Eoas samE GEAHEER ) 5 & 2:13.66 7 1:42.56
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